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QUESTION 1

A administrator is troubleshooting a user\\'s intermitted wireless connectivity issue. Other users across the hallway can
connect use the wireless network properly. Upon inspection of the connection details, the administrator finds the
following: 

Which of the following is MOST likely the cause of the poor wireless connection? 

A. Channel overlap 

B. Overcapacity 

C. Incorrect antenna type 

D. Latency 

Correct Answer: C 

 

 

QUESTION 2

A network technician is considering opening ports on the firewall for an upcoming VoIP PBX implementation. Which of
the following protocols is the technician MOST likely to consider? (Choose three.) 

A. SIP 

B. NTP 

C. H.323 

D. SMB 

E. ICMP 

F. RTP 

G. IPSec 

H. RDP 

Correct Answer: ACF 
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QUESTION 3

Which of the following is created on a 48-port switch with five active VLANs? 

A. 48 networks, five segments 

B. 48 collision domains, five broadcast domains 

C. 240 private networks 

D. 240 usable IP addresses 

Correct Answer: B 

 

QUESTION 4

A technician discovered a company computer had a virus but was unable to remove it. The technician decided to erase
the hard drive to eliminate the threat. Which of the following policies did the technician violate? 

A. Data loss prevention 

B. Incident response 

C. Asset disposal 

D. Acceptable use 

Correct Answer: A 

 

QUESTION 5

A network technician needs to implement a network security control on a switch. The solution needs to be non-invasive
and prevent guests and unauthorized users from accessing the company\\'s network Which of the following would BEST
meet these requirements? 

A. Upgrading the firmware 

B. Disabling unused ports 

C. Reconfiguring the router access list 

D. Patching and updating 

Correct Answer: B 
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